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No. B g EE if;i{ ii?g E‘%g NIE g M
6 ZR itFe =HieE lIlBRY 304 5070 74 85 400 11
11 X2 =B g |ISey 298 5825 78 98 400 11
13 X2 Ritix FXEE |IISEY 292 5220 61 96 400 11
4 B2 w2k @KS AAT 310 4800 68 88 267 9
8 Z# Bam =708 TR 303 4745 71 85 267 9
12 X5 Fb #5%t% AATH 296 5935 67 90 267 9
1 ER Fam SRBR SRt 308 4825 54 86 233 8
2 K8 wmE =708 [IlilET 308 5020 70 98 233 8
3 R 2% FXEs =Rt 305 5565 62 83 233 8
b X2 Hox @R RETH 305 5560 66 103 233 8
7 &8 XB Rk alAT 304 4980 59 18 200 7
9 =B F@ElE BB Rt 299 6030 67 9.1 200 7
10 &2 1{tEBEX  HKRER 11158y 299 5570 67 94 200 7
16 it =F EiX Ki&gH 303 4390 77 88 400 11
18 It =i2t2 FiXks AMAT 301 5095 75 8.1 300 10
14 it #hiE =708 REH 307 4175 75 89 267 9
15 it Fb &KRBR RETH 307 4105 64 82 267 9
19 it meFE RF AAT 301 5190 79 82 267 9
17 Ut =B FXhF REDL 303 4985 68 85 233 8
20 it 2% walE AEH 0 296 4355 53 93 167 6
AN B2iRTX [p.4::4 Kifh 289 4025 56 92 133 5
EBEL 30.2 531.9 66.5 9.0 2.7 8.7
i T 30.1 454.0 68.4 8.7 2.5 8.4
2FEY 30.2 502.2 67.2 8. 27 8.6
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